

A rublikába a
megoldáshoz tartozó
nagybetűket írd be!

A	0	Á	1
D	2	É	3
K	4	L	5
P	6	R	7
S	8	T	9

$$32 : 4 + 5 \cdot 6 - 32 =$$

$$1 + 2 - 4 \cdot 6 : 8 =$$

$$(61 + 81 : 9) - [(5 + 6 \cdot 9) + (18 : 2)] =$$

$$7 + 6 \cdot 8 - 230 : 5 =$$

$$8 \cdot 9 : 3 + 5 - 26 =$$

$$(5 \cdot 7 + 1) : (2 + 24 : 6) =$$

$$64 - 9 \cdot 7 + 32 : 8 =$$

$$56 : 7 \cdot 3 + 4 - 27 =$$

$$(100 - 5 \cdot 8) : (28 : 7 + 6) =$$

$$56 : 8 - 2 \cdot 3 + 3 =$$

$$21 + 17 - 42 : 6 \cdot 5 =$$

$$(13 + 5 \cdot 7) : (11 - 40 : 8) =$$

$$8 + 48 : 6 - 2 \cdot 7 =$$

$$6 \cdot 14 : 4 + 5 - 26 =$$

$$(27 : 3) + 5 - (49 - 5 \cdot 8) =$$

$$52 + 72 : 9 - 6 \cdot 9 =$$

$$64 : 8 \cdot 6 - 47 + 2 =$$

$$(56 : 7 - 6) \cdot (9 - 49 : 7) =$$